;> restart
> FEcua := (4’)63-)/2 — 9-x2-y3 + 16-x'y4 + S-ys) + (2'x4-y — 9-)c3-y2 + 32-x2'y3 +25-x-y4) y'=0
Ecua = 4)c3y(x)2 - 9x2y(x)3 + 16 xy(x)4 + Sy(x)5 + (2 x4y(x) - 9x3y(x)2 + 32 xzy(x)3 €))

B (5o =0
| > with(DEtools) :
> odeadvisor(Ecua)

i [[_homogeneous, class A), exact, rational, dAlembert] )
> M:= 4)63)/2—9962)/3 + 16xy4—|-5y5
i M:=4x3y2—9xzy3—|-16xy4-|-5y5 A3)
> N:= (2-x4-y — 9-x3-y2 + 32-)62-y3 + 25-x-y4)
i N:=2x4y—9x3y2—|-32xzy3+25xy4 “)
[ > IntMx = int(M, x)
i Inth:=x4y2—3x3y3+8x2y4+5xy5 o)
> SolGralUno = IntMx + int( (N — diff (IntMx, y) ), y) = _CI
i SolGralUno = )c4y2 —3x3y3 + 8)c2y4 +5xy5=_C1 (6)
(> IntNy = int(N, y)
i Inz‘Ny:=x4yz—.’>)c3)/3—|—8x2y4+5xy5 @)
> SolGralDos = IntNy + int( (M — diff (IntNy, x)),x) = _CI
SolGralDos = x4y2 —35 y3 + 8 x2y4 +35 xy5 = CI (t))

> SolGralFinal == subs(y=y(x), SolGralUno)
SolGralFinal = x4y(x)2 -3 x3y()c)3 +8 xzy(x) +35 xy()c)5 = CI )
> DerSolGral = simplify(isolate(diff (SolGralFinal, x), diff (y(x),x)))
p(x) (5y(x)° +16 y(x)°x =9 y(x) X’ +4x°)
2

4

DerSolGral .= d

- y(x)=- (10)
i dx x(25y(x)3+32y(x) x—9y(x)x2—|—2x3)
> DerEcua = simplify(isolate( Ecua, diff (y(x), x)))
3 2 2 3
DerEcua == -3 y(x) = - y(x) (5y(x3) + 16y(x2) x—9y(x) ;c +4;c ) an
i dx x(25y(x) +32y(x)"x—9y(x) x +2x)
> Comprobar := simplify(rhs(DerSolGral) — rhs(DerEcua)) =0
i Comprobar :=0=0 12)
> SolGralAbsurda = dsolve(Ecua)
SolGralAbsurda =y (x) =0, )c4y()c)2 -3 x3y(x)3 +8 xzy(x)4 +5 )cy(x)5 + CI1=0 13)




